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Composite functions 

1- Given f (x) = 2x,  g (x) = x + 3    and h (x) = x2 + 4   , find 

(a) (f o g)(x)    (b) (g o f)(x)     (c) (f o g)(2)                  (d) (f o g)(2)   

(e) (f o h)(x)    (f) (h o f)(x)     (g) (f o h)(-3)                 (h) (h o f)( -3)   

(i) (g o h)(x)    (j) (h o g)(x)     (k) (g o h)(0)                 (l) (h o g)( 0)   

2-  Given f (x) = x2 – 4, and   g (x) = 2x – 6,  Find 

(a) (f o g)(2)    (b) (f o g)( 3)     (c) (f o g)(12 𝑥)                  (d) (f o g)( x + 3)   

(e) (g o f)(2)    (f) (g o f)(-3)     (g) (g o f)(x2)                 (h) (g o f)( x + 2)   

3- Let f (x) = 2x + 4,  and g (x) = 7x2      

     (a) Find   (f o g)(x)   

    (b) Find (f o g)(3.5)  .  

4.  Let f (x) = 3x, g (x) = 2x – 5, and  h (x) = (f o g)(x)   

     (a) Find   h(x)   

    (b) Find h(0)   

    (c) Find (g o h)(x) 

    (d) Hence solve the equation (g o h)(x) = g(x)   

5- Let f (x) = 2x – 5,  and g (x) = x2 – 18     

     (a) Find   (f o g)(x)   

    (b) Find (g o f)(x)   

    (c) Hence solve the equation (f o g)(x) = (g o f)(x)    
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Solutions 

1- 

(a) 2x + 6 (b) 2x + 3 (c) 10 (d) 7 

(e) 2x2 + 11 (f) 4x2 + 4 (g) 29 (h) 40 

(i) x2 + 7 (j) x2 + 6x +13 (k) 7 (l) 13 

 

2- 

(a) 0  (b) – 4 (c) x2 – 12x + 32 (d) 4x2 – 4 

(e)  – 6 (f) 4  (g)  2x4   – 14 (h) 2x2 + 8x – 6 

 

3- (a) 14x2 + 4    (b) 175.5   

 

4-  

(a) h(x) = 6x2 – 15 

(b) h(0) = – 15 

(c) (g o h)(x) = 12x2 – 35 

(d) 𝑥1 =  53    𝑥2 =  − 32 

 

5- (a) (f o g)(x)  = 2x2 – 41             

     (b) (g o f)(x)  = 4x2 – 20x + 7 

      (c) x1 = 6,  x2 = 4 
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